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QUESTION 1

Click the Exhibit button. 

A LDP Layer 2 circuit is shown for VPN A and VPN B. LDP tunneling over RSVP is activated on P1 and P2. Referring to
the exhibit, which statement is true about the LDP Layer 2 circuit? 

A. MAC learning is needed and using the inner VPN label between PE1 and PE2 for VPN A or VPN B. 

B. Targeted LDP sessions are established between PE1, P1 and P2, PE2. 

C. Label stitching must be configured on P1 and P2 for end to end transport LSPs. 

D. LDP must be enabled on the loopback interfaces of PE1 and PE2. 

Correct Answer: D 

 

QUESTION 2

Click the Exhibit button. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. The VPN uses LDP signaling for VPLS services. 

B. The VPN uses BGP signaling for VPLS services. 

C. The PE and directly attached CE are multihomed. 

D. There are only 2 PEs with VPN membership in the network. 

Correct Answer: AD 

 

QUESTION 3

Refer to exhibit. 
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Referring to the script and configuration shown in the exhibit, what would be the output after committing the
configuration? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 4

-- Exhibit 
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-- Exhibit -Click the Exhibit button. 

The exhibit displays an IS-IS topology and an IS-IS configuration for R3 and R4. R4 cannot reach any 

external destinations or addresses located in Area 49.1111. 

How would you ensure that R4 can reach external destinations and addresses located in area 49.1111? 

A. Configure an export policy on R3 that leaks all IS-IS routes from Level 2 to Level 1. 

B. Configure R3\\'s authentication key to match R4\\'s authentication key. 

C. Remove the overload statement on R4. 

D. Remove the ignore-attached-bit statement on R4. 

Correct Answer: D 

 

QUESTION 5

You are asked to implement a BGP-signaled VPLS network for a new customer. Which two statements are correct
regarding this implementation? (Choose two.) 
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A. A full mesh of LDP sessions between PEs must be configured. 

B. The PE routers distribute VPLS-to-label mapping using MP-IBGP. 

C. These MP-BGP sessions must be configured to support the I2vpn signaling address family. 

D. These MP-BGP sessions must be configured to support the inet-vpn signaling address family. 

Correct Answer: BC 
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